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6. For which values of A, B, and C

2 Topic Assessment Form A

Paswer Koy

1. What is the graph of y = —4x — 1?

M

|
|
i
|
|
% = |
7

I

will Ax + By = C be a vertical line
through the point (8, 6)?

@ A=1,B=0,C=6 “*07’:8
@s-18=0cC=58 X=8
© A=0,B=1,C=6

©® A=0,B=1,C=8

S‘ 2. Which of the following is an

. What is an equation in point-slope

3 form of the line shown in the
M= _ll/- ,5 equation of the line through (2, 3) graph, using the point (2, 2)?
‘},5 and (-1,-12)?  Y=9%7T i |
\?51\1\'\0\) @y=bx+2 @y=-Ix+l 3 | M“’5 oY -3
] t @ y=5«-7 © y=-5x+7 6 3 )
3’5,@1 AL Y ’Z s -3 X-%
b* 3. Yuson must complete 30 hours 2 [\
of community service. She does \| %
2 hours each day. Write a linear Oy | 2Y 4 |

equation to represent the hours
Yuson has left after x days.

Y:-ZX‘!‘ 30

4. For the graph of the equation you
wrote in Item 3, what does the
y-intercept represent?

@ hours left to complete
' total hours of service
© hours completed each day

@ days it takes to complete
30 hours

. What is an equation in point-

slope form of the line that passes
through the point (4, —1) and has
slope 67

@®y+1=6(x-2
® y+1=-6(x-4)
© y-1=6(x+4)
© y-1=-6(x+4)

5. What is an equation of the
horizontal line that passes through

(5, =7)? Y:’?

. What is an equation in point-

slope form of the line that passes
through (-7, 1) and (-3, 9)?

@ y+3=2(x-09)
® y-3=2(x+9)
© y+9=2(x-23)
@) 9-2x+3)
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10.

What is the graph}clnc 4dx + 3y = =247
N

\ ,L_,,, HEE ’ x:-

V4
\,.V SR S8

7
7
p ]

11.

Write the equation in standard
form of the line that has
x-intercept 3 and y—lntejcept B,

(3,0) st‘.ly"s

12.

What is the equation in stagndard
form of the lin =—1~x+ 5 )
® x=9y-45 9qy= X¥U4S

@ x-9y=-45 "X'HY =45

© 9y =x+45 lyall 3
© 9y - x =45 mu“kgg"é; an

13.

What are the x-intercept and the
y-intercept of the graph of
9% - 7y =-637?

@ x-intercept:
. x-intercept:
© x-intercept:
@ Xx-intercept:

7; y-intercept: -9
—7; y-intercept: 9
9; y-intercept: -7
-9; y-intercept: 7

14.

Derek has $20 to spend on used
books. Hardcover books cost

$5 each and paperbacks cost $2
each. What equation in standard
form determines the number x of
hardcover books and the number y
of paperback books he can buy?

EX+ ‘ZY =20

15. For the situation in Item 14, which
of the following represents a
possible combination of books

that Derek can buy? Select all

that apply.
@ (. 10)

® (-2, 15)
@5 © (.3

16. Determine whether the lines are

parallel, perpendicular, or neither,
5x + 2y =14 andy_ =Dx 2.9

Y/-'-%/xz;n

qub

17. Which lines are parallel to

8x + 2y = 77 Select all that apply.

®y-1=4x+8 2Y= ==Xt
® y=-4x+15
@ 16x+4y=9

.‘ y=-4x

(410)

Nétthey

Y—-- ux +7/2_

5x+zZ g0
(01"3

18. Write the equation in slope-
intercept form of the line that
passes through (6, —11) and is
parallel to the graph of /_ ,-)(-\-»3
y= —-wx L ‘12
- x‘1 -”- i ")-‘-‘Db
Y 3 4 “b
19. Line v passes through point (6, 6) we v
\'Ldls perpendicular to the graph /_—Ll-—xfb
— 11. Line w is parallel Y'- /3 b
*Io Ilne v and passes through point (> ‘,\:@.}1’
(=6, 10). What is the equation in G= -6+ -
slope-intercept form of line w? Y" ""Vg)("

Linkw. Y

20. What is t y—m

& i

y+11==2(x+ 1.5)?
YHi=-2X-3
yf—ZK‘]"\'
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1. Which of the sets shown includes
the elements of Set Z that are both
odd numbers and multiples of 5?

Z={-15, =12, =10, 2, 7, 10, 20}
® 5

{-15, =10, 10, 20}

© {-15, -10, 7, 10, 20}

® {-15, -12, -10, 2, 7, 10, 20}

2. Order the numbers from least to
greatest

36\/_\/‘
w &, 8 30

1
: savvasrealize.com

6. Write the formula for the volume
of acone V= —l,—rrrzh in terms of h.
Find the height h of a cone with
volume V = 32z cm3 and radius

r=4cm. 3 e ‘3‘]'['1‘2'}'{15
Formu := v ﬂ:w

Height:

=1
W=\ Alewt  he3GE-

T,7,°

3. Which of the following will result
in a rational number? Select all

that apply.
4, J9 4 5
@7 ® 6;-7
4 9 4 .5
®s; O 65+

7. How many solutions are there to

this equation? ~ 7X-3X13 =4X+6
Tx-3-1)=20x+3) X320
Q no solution

exactly one solution

© at least two solutions

@ infinitely many solutions

4, What is the value of x in this
equation?

5x - 2(2x—1)=6

®3 SY-4+2=6

® - X+2=0
©7 =t
© 8

8. Coulomb’s Law F = kg relates the
force F between two rcharges g and
Q, which are a distance of r units
apart ol&e the formula for K

LF T2 ut d_,ﬂ,g
o

9. Find the value of x in this equation.
1 _1 ‘
b [é—(sx ~5)-x=T-20+ 1—):1 X“O
Gr-5-3x= -6 +D) 3%-57-6X-S

5. The sum of three consecutive odd

. integers is 105. What are the three
’3’35)37 numbers7 BIA= 17

1D+ X2 362

37x+(o— 0% ¥+2=3
- -6

TX=0
10. Solve the equation y = af)— b for

the variable x. Xﬂ)’;@_&
@x=-§+b .x_ y
©x=y+t  @x=2%°
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